REDROCK

HOOD STRUT KIT

(2021-2022+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS

2) Hood Struts
2) Hood Mounting Brackets
1) LH Fender Mounting Bracket
1) RH Fender Mounting Bracket
4) M8 Bolts
4) M8 Flat Washers

)

(
(
(
(
(
(
(4) M8 Threaded Retainers

TOOLS REQUIRED

10mm, 13mm Socket

Ratchet

SKU # FB19809
Edited: 10/04/2022



REDROCK

STEP1

Assemble (2) M8 bolts, (2) M8 flat washers, and (2) M8 threaded retainers to each hood mounting
bracket.

STEP 2

With the M8 retainers threaded to the bracket, insert the retainers into the holes in the vehicle hood.

Once fully inserted, tighten the M8 hardware using a 13mm socket. Repeat this step for the remaining
hood mounting bracket.

Note: Fitting the retainers is a tight fit to ensure proper engagement when tightening.



REDROCK

STEP 3

Remove (1) 10mm bolt from behind the front fender accessory mount.

STEP 4

Align the fender mounted bracket behind the front fender accessory mount, and secure into place
using the original (1) 10mm bolt.

Repeat this step for the remaining fender mounting bracket.



REDROCK

STEP 5

Install the hood strut into each bracket by pressing each end into the mount until the clip clicks
into place. Repeat this step for the remaining hood strut.

Note: Ensure the strut is in the correct orientation for proper functionality.

STEP 6

Installation is now complete.



	FB19809 - RedRock - Hood Strut Kit (21+ Bronco)-01
	FB19809 - RedRock - Hood Strut Kit (21+ Bronco)-02
	FB19809 - RedRock - Hood Strut Kit (21+ Bronco)-03
	FB19809 - RedRock - Hood Strut Kit (21+ Bronco)-04

